The Sine Rule

= é\REVISE THIS
I Th

1 Work out the length of side Xx.

11 cm

75° 24°

x ; )\
sin(24) in(¥9)

X = HQIV\(?—L\')
Sin(35)

‘- % b

2 Work out the length of side x.

81°

%

x . b
SinC&Y Sin(s1)

~ = 6 sin (Bl
Sin (S1)

X = :}'Q
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3 Work out the size of angle x.
Not drawn
20 cm 14 em accurately
X 77°
[3 marks]
sin () | sin(33) sin (x) = 0-68205...
|4 20
Sin (3 = \'-\'Sin(q’q\ X = SW\'\(O'@?ZO...\
20
X = Ll’ 3 ) O
4 Work out the size of angle x.

50 cm
Not drawn

accurately
38 em [3 marks]
Sin(x) _ sin(a2) sin () = 0-35963...
3R SO
Sin () = 38 sin(1) x= sin (035283...)
SO

49 &
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5 Work out the length of side x.
22 cm
129° Not drawn
accurately
S
[3 marks]
x .22
Sin(128)  sin(\Q)
« = 2sin(29)
sin(19)
X = 5 2 ) S Cm
6 Work out the size of angle x.
Not drawn
12 cm 13 cm accurately
85° X [3 marks]
sin(d) | sin(85) sin (1) = -9 56%-.
| 2 \3
sin(x) = |2sin(85) x= sin” (0-986..)
1y

664

Turn over »
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Given that angle X is obtuse, work out its size.

b Not drawn
h 18 cm accurately

14 cm [3 marks]
Sin(x) _ Sin(tl)
|3 |4 sin (1) = O-843(3...
sin(3) = B sin(t4) x= sin'(0-83313...)
I x = 62-264S...
X S potuse so V80 - 63:264S..
X = ‘ \ 6 ' -:Z—
gszky?)lﬂrt:lﬁsl\?vzgrtiz ?;zi?oer;. kv6 , where k is an integer. @
Not drawn
X 9cm accurately
o0 45" [4 marks]
x 1 _ Az 2
= WA= —= x —
Sin (45) sin(GO) 2 3
« = Agin(48) v= WZ x 2
$in(60) V3 V3
- e
5T

X= 3@ cm
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9 ABC and BCD are triangles.

J|* Not drawn
accurately

=\

12 cm

i
A 14cm C

The area of triangle ABC is 154 cm?
Work out the size of angle ABD.
[5 marks]

LLK e x o = 1Sk
W = Llow

Sin(a) - sin(FY) an(n) = %

L 1L 2L
'. = (Lsin(3) - tan '/
sirl) = (s 9=t ()

- 0-S216.. &: &?_Lﬂ'
= sin' (0 SUb-..)
x = LGt 21441+ 247

639

sin (1)
X

Answer

Turn over »
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10 ABCDE is a regular pentagon
AEF and CDG are triangles.
FEDG is a straight line.

Not drawn
accurately

F E D G
Work out the size of angle X. [6 marks]
angle. AEF = anqle CDG = 360 -372°

"9 3 =
Vb . _ % Sin() - sin(F2)
sin(ez)  sin(®32) 342 20
Y = R cin (62) Sin( ) - Flsin (F2)
Sin (F2) 20
y = F413.. Sin(x) = 0-382UF .

x = sin'(0-23533F.)
x = 20 6%(8%2%

20+

Answer
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11 ABC is a triangle.
ABD is a sector with centre A.

B Not drawn
accurately

9cm 15 cm

Work out the area of sector ABD.

[5 marks]
Sin (x) - S'\V\(S’L) Sin (g(_) = 0. SR ..
1S 9 = sin” (02921 )
sin() = 19530 x= 62-0306...
9
Area = 6203 v T x q°
560
= 43 %46 8a7FH
Answer LI' Z | g cm2
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